36

APM B 6
i

=
e
M
4
0
B
09&
[
m
n

N
'U'nl—(_/_:?_"]:
ur N 42

¥ riz 09k

@

o

12
: Foot £&Hd
: Flange &g
: Plate 218

Bl R2U4Z
6 26
10: @10
15: 915

[a] A2 H (mm)
5,10, 15848 3Z
5 : 5mm

i
it
_IIE
ro
©
o
10

89| 2 Hose(F2) UZ 75 A2 £7F
= B ots.

i
»
T
o
2
8
il
K
[:3

@

- ARIC| 0| S4 BYWAOS NEA| ST Y=
Zst

+ 2E 7{Ho] 22 Loley SEE M AR
S L7

- CISBH RE SA LIS Mevks

A L

AL KS 7|2

Hose(FE) LIZ F&F Al

1501 LIE s,

HAIFE| TYPE |FEIE|FEHZE
H4 a4 a2
H5 Cap¥ a4 2.5
H6 a6 a4
N4 a4 a2
N5 | Barb® 24 225
N6 26 a4

MR XeE EHEHT

(6] mAE 2= MEHHY AL
2I|B0I2) T LA US
B MELIAMRLE



MY
5 = FE W& (mm)
26 @10 @15
AR &I
e S (A =8E)
IR 1.06Mpa(10.7kgf/or)
2 OAE A 0.7Mpa(7.1kgf/cr)
F| R ALS Ot 0.2Mpa(2.0kgf/ar) 0.15Mpa(1 5kgf/or)
F A MNERA 2= —10~70C(SZ0| eleZ)
2C MEFLIALEY RLAHZIE) [ LA AS (FEALY)
LEAF SRF KS 2=
HEEAE /ARt 5,10, 15mm / 0~+1.0mm
Ehnka i =ZR((FSF)
AR IAE & 50~500mm/sec
=4 s
FE XS 7128(B), =5 UL(S), Foot FAS(L), Flange FEE(F), Plate 7= (P)
Az =F(N) (221:N)
A H(mm)
72 Hd (mm
o (mm) 5 10 15
26 4.36/1.47 4.33/1.47 4211.47
@10 6.66/2.94 7.55/2.94 7.45/2.45
@15 11.86/6.57 12.35/5.40 12.70/5.78
F) 272 B7| DAE 27 A%/ 57 SEAY.
o|2 ==& (EERY
= 74 2024
" FEUE - A& ete (Mpa)
) 0.2 03 [ 04 05 0.6 0.7
IN Max. (SFIAIR) 4.33 ~Min. (2HEE) 1.47
APM 6 6
out 12 40 | 87 9.5 12.3 15.1
IN Max. (SFAIR) 7.55 ~Min. (2HZ2) 2.45
APM 10 10
out 7.8 155 | 232 30.9 38.6 46.3
IN Max. (FHAIE) 12.7 ~Min. (FHBE) 5.4
APM 15 15
out 21.9 39.2 56.5 73.8 91.2 108.5

K|

) IN=0.102kgf, TMPa=10.2kgf/cr, IN=I|AE =7, OUT=I|AE MZ

OUTEE 2 57 2| Max. ot& & E.

=T =

37
www. TPCpage.co.kr




APM Al2|x

2YH (E+2l:0)
Azl =5 3 FEENE
S yHmm) | 7 e . Cea N THET =
J12E8(B) |25 AYFO)| FEHE8 HE | Foot(l) Flange (F) Plate(P) Barb® (N) | CapH(H)
AEZ]
6 15 AE 181 1 9 2 ¥
02EERF 7 5
(N4) (H4)
154EE3F 14
sAERT 19 5 4
210 100E23 24 J|12E+ 5 19 12 16
I (N5) (H5)
152E23 29
5AERT 51 3 4
15 102EE3 61 10 63 67 M
(N6) (H6)
154EE3 72
) MEicl 2¥e oM HE ) 28 2.
@ AT HEF A AL of
= HEY : APMP10—10-N5(52UZ @10mm. AEZ3 10mm, Plate 27 A2, Barbd N5 SALIE £2F AL
= St 7= EE 24g + Plate 27 22 169 + 2ALIE N5 A2 2g = Total 2F 42g

APM &!2IC{ FolAfst

AE3H7| Hof| BHEA] SXSHYAIL.

X0
ES]
o Fot Y ARIC ZEIAE E11 Zo| ZH 22|of| Yt AmjHE  E2. MX| =AY F& £5Hg)
Ao FEAL2 sy | 4 [ 2EGE Ry
1. 2H 2= AR ATjl] Z(mm) 26 3 HAA 0|2 Eol
E”HIA | 2E2 HE| ARIH 52 | EEMO HE| A LE 210 10 20% 0|3}
26 12 9 55 215 25
210 19 13 8
@15 27 20 8 ©® 7|2 (APMB++) AZIHE S5 QAT (APMS**)2 2 B AIZBAl=
TI29} 20| =2, AF2o10 FHAIR.
HA KTAPMS**—CK)2| £ES 2e(|T/A £AF Z2{119| 2|50 517
@ PORT HiE2 QE|I| AT MXIE ME SA LIES ALESI0] FAAIL. T8 20| 4 H|O|ZLt, £ EIO|EE T 2s10{ A2 HY2F PORTO|

SSo[5h| CHE DSl AFBAIE 1813} 20| METER IN AT E 2
EE(FAFSPI211F—M5—++) & ArE510{ #80ILH (50~500mmysec) 2l &
UL E|EE SHIAIQ. E5] IAE0] 2 FHjof| oA 18T &
SAIS 2|1 ALBSEO| 80% OLHZ Z4AI AFBSHIAIR. T &
T 0|40 ABAIL £EO| Tt U MRIC| 20| N3 4 U
=

ZETHC, ojmf & BIO|ZLE 5 EIO|EJt 2E(T|A 20| 7|0[X] =S
FOI5tal, ZEA| LT 2/0| ZEEIH AEZITFHIPIL YA £|22
IuES %’Kl [Ea N

dHo|Z, SE}
O|EE0|& 1Y

JAN
/ vV

Tﬁ_

JEN. A= ZEER FE 32T

o ABILE g I £A(GH) HX|AE ZlAE0| A= glitez

22SIEZ HBREIE H20} 20| HR|==F SHAR Tt 1Y

Olgo=z | MRicie] 70| 2EstA| 251, 2S0| ot £
UFLICL

° '=-. QIS (APMS*») MZICIE Z
TRIGRIAIR.

BAIE 71220 D2 AE 2 &

38




1 mat A8 Mz APM AJ2[=

[El

APMB++ MBI XS

— S — T-
F IIL"_:I
-1 T1r T 1 - B T
- =

SALE RAAY FR
(SHN5— % > % %)
EEMELIAIQIEER

BAT ST

(APM> X —> x —B Type)

FHRE 00

H3 = 3 & oA H
(L) ZE A 1 seia P A ==
) 42 5= 1 soiz Sa UM =3
) 28 A2 1 Azyy ofet &2
[ 22 LE 2 s23 23 LA =2
(5} LAEQUAE ZE 1 AE|QIYA Z d¥3gz2
(6] EEMHLE 2 Ll HA ==
(] A= g 1 15
(8] Py 1 g
) 22juA T 221 1 ey A =3 =2l ololsio| AL
=20 cedo—l o1
F) MBC LiRE 2T 4 ot PRYLCH (APMS  + — X X Type)
APMB:+ 7|23 #BIH X+=
AR 2-2E MEHHE NN M5%0.8
(TPC1 M2itf X|4+-& &ZF) '\ HH 2 Port
C0.5 MM 1O
- 2 S 1| I T s
| —
¥
Y B\ 54 UE
O (SHN5—* k% * REE EZ)
A
0.5~1 2-W E
EEMEH LA = ER u s
(APM> > — > % —B Type) -
(©l: mm)
EXEITE] L S
A| B| @C| @D| E | @F | @G| H [— . - MM NN R — : - W
(8. mm) 583 | 1033 1583 533 1087|1587
6 7 12 | 139 3 4 85| 85 9 275| 345 | 415 M3x0.5 M10%1.0 9 18.5 | 256.5 | 325 3

o~

10 10 19 | 215 55 | 125| 12 12 | 325| 39 46 M4x0.7 M16x1.6 | 13 | 2056 | 27 34
15 12 27 | 35| 6 6 | 185| 19 14 | 37.5| 435| 50 M5x0.8 M22x15 | 20 | 235 | 295 | 36 5

o

39
www. TPCpage.co.kr




APM Al2|x

APMS++ (BLOCK QIgIsd) &lBi X|+=

M5x0.8x 5L
(2e|mAa g2t 5217)

J@
SC '8°

SB

S5 HE(H)

F) B7|9F AlRIE| X|4= APMBX % X492} S

(2] - mm)
GEhiE | AepiaeEi J K gD | @0oD S SB sC NN
(. mm) KIT Bt 53N | 104y | 1587
6 APMS6—CK 25 1.4 3 6.7 8.5 155 | 225 | 295 5.5 3 M10x1.0
10 APMS10-CK 2.8 16 3.2 9.9 12 16.5 23 30 7 33 M15%1.5
15 APMS15—CK 3 1.8 4 16.8 19 185 | 245 31 7.5 35 M22x1.5

APMF++ (FLANGE $&t8) M2 XI55

2—gFC NN FooT

e
N\
NN

3% \

20

F) B7|QF MBIH X$E APMBX k X2t SYE

(2 - mm)
==
FLANGE &# 20 P Q @FC FT FK FL FM NN
Az
APM6 APM6—20A 12 1.5 1.5 45 1.6 24 14 32 M10%1.0
APM10 APM10—20A 18 2 2 55 2.3 33 20 42 M15X1.5
APM15 APM15—20A 26 2.4 3 7 4 60 34 75 M22Xx1.5

(2 Lei )

40




1 mat A8 Mz APM AJ2[=

[El

APMP++ (PLATE £&8) &gl X|s=

ML

—_— rd— NN 4 -—— - H——-

N
%

PM
PK
I
|
i
,

I

L @ FEHAEA)
T

N_ 2-OPC TS PH
o-grc 2E —

2-@PD C. BORE/Z!0|
PT PL

F) B7|9 Al2IT] X4 APMBX X X402 S

(2] - mm)
=) 5
PLATE &# PH PT PK PL PM @PC @PD /210 MM NN ML
AzH
APM6 APM6-21A 10 9 22 20 32 43 75/45 M5X0.8 M10X1.0 7
APM10 APM10-21A 12.5 10 32 25 43 5.2 9/55 M6X1.0 M15X1.5 9
APM15 APM15-21A 17 12 42 34 56 6.8 10.5/6.5 M8x1.25 M22X1.5 13

(e A L2015 &3)

APML++ (FOOT F&}3) Mgl X|x=

LH

F) #7|2 ARIH R 4= APMBX % X2t SUE

(21 mm)
58
FOOT & 20 P Q X Y @aLC LH LT LK LL LM NN
Ay
APM6 APM6—19A 12 1.5 1.5 7 12 4.5 9 1.6 24 16.5 32 M10x1.0
APM10 APM10-19A 18 2 2 9 15 55 14 23 33 25 42 M15x1.5
APM15 APM15-19A 26 24 3 20 28 6.8 23 32 40 40 55 M22x1.5

[C PRl k)]

41
www. TPCpage.co.kr




42

APM Al2|x

APM++ &EIL] 258 HE XF=E

(4] - mm)
HEI|E Z4d A 2C J NN
APMx6 APM6—13A 12 13.9 3 M10%1.0
APM=*10 APM10—13A 19 21.5 4 M15%1.5
APM*15 APM15—13A 27 30.5 5 M22x1.5
Cap¥ SALIE XFE

X TUBE
NBR 2 WASHER (TUK* % %)
(28 24.8% 20.6t)
M5%0.8 — /
Y HE=r i
— \
N
N/
3.9 (D) E NG o Lo
08 L
\ 20.8 ORIFFICE
F)UE U Cape SEZ MEZ, B2HO| LZ =30 =[0] JUZ. (4] mm)
=z o 2 TUBE DEMENSION
(@A | (2B) ac D E L

SHN5-20402 ST0402 4 2 75 15.7
SHN5-20425 ST0425 25 9 2.8
SHN5-20604 ST0604 6 4 8.5 16.7
Barb® SALIE X+

NBR ZE WASHER =& TUBE

(28% @4.8% 20.61) (TUK > % )

M5X0.8 —

|
T
|
1
<>
m
ac
(@A)

3.9 (D) E
\_ 0.8 ORIFFICE L
F)LUES sES MER, 2H| LA =30] =0 US. (€42 - m)
= X2 TUBE DEMENSION

(A) (@B) ac (D) E L

SHN5-10402 ST0402 4 2 2.9 25 6.3 12.8

SHN5-10425 ST0425 25 3.5 6.5 13

SHN5-10604 ST0604 6 4 5.2 3 8 15






